Q HESY 7| SEEN04-422)

SHR|AMA (852 7|7k 2024 042 21 17A| ~ 04€ 2221 17A))
O O O O
[ 202414 042 21 17A| 2E ] Of| 22k 5fd8l|=
-1 LY oM 2 S8 -
> 2770
O (R5) ATA7A|) dE2SEE2 32|11 530] 10ktZ2 =0 A|H2 10km O LICE 5212 oot 7|2E2 dek= 2L, of
HZ se|ZELCL
O (U ¥) ssi=Fsat0l |XIet 07| e| ZFEAZ|of SCHt MF=HEH LM S8 22 0|5k= A 7|l Fe= KpAH 2
MJ— I:HX'”E |M§I—|E|'«
ol & Z|X/x[17]2 (°O) Ol Z==2H(mm) Ol A d(cm)
(LH2hH 13/ 23 - -
> R 7[H0E
O gl=
AlZHE SHIE o2
E-TTON askruet | | 20krops | 2skToly | 30kTopy | eEEHS Y GooD | MEDIUM [ POOR
aa 1 2y
17 18 19 20 21 22 23 00 01 02 03 04
o i
e SE 226

02
=

=
o o
(=21

03

MG”
o
o
=
ol oM
o

%
3
2
35
©
1S
)s
-
3
©

= =26 6 =26
H,HE2 H,HE2 H,HE2 o HE2 HHE2
B)ES 2890 Z8%0 ET0 2830 ZT30 2330 Z330 230 2830 2330 230 2830
,'G“L(lgr 358 258 258 26 356 256 226 26 356 256 256 56
229
05 06 o7 08 09 10 1 12 13 14 15 16
ZE/HWE

s s L O < < < < < < < < <
(14R-32L) . — = ey ==
ELEN X e = 8

Z5 =5 == ZE5 =Z5 =z5
3, HiES = HES5 =, i85 I, HE 5 I, ES 3,35 = HE5
B2()ES =430 =ak30 =a30 =ao0 =490 Zah90 Zaho Za90 =490 Zah90 Zaho Za90
IGUST &6 E&6 ] B&7 &7 &7 E&7 B4 27 27 247 B4
(kt)
XEZ/EUEZ S SSE F 20| Tk HIEHS 2|0[5HH, Tl ke (O ‘53 4= £30| 4ktdS 2|0))
> ZEDIZ
O gls
O HARY
XS A BEO| Coh XM A2 25748 ZH[0]X|(@mokmagoknof A 2tolgh 4= AELICH
X =AT|2Ho| EHokX}, M3 S 9l FAXHS 7 HZA R QIS = ZZ-Z3H7|AMY (TEL 02-2664-0365 / FAX 02-2664-0366) 2
LedZFA|7| HFEFL(CE




